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You can use the same rules of signs when dividing rational numbers that
you used for multiplying.

a. Simplify .
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b. Simplify .

� � Divide each term by 5.
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Evaluate each expression if x � 4, y � �5, and z � �1.5.
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16. Standardized Test Practice How many boxes of peanuts can you get from 

52 pounds of peanuts if each box holds 1�
5
8� pounds of peanuts?
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Dividing Rational Numbers  (Pages 84–87)

NAME ______________________________________________ DATE ____________ PERIOD _____

ExamplesExamples
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Dividing Two The quotient of two numbers having the same sign is positive. 
Rational Numbers The quotient of two numbers having different signs is negative.

If a fraction has one or more fractions in the numerator or denominator, it
is a complex fraction. To simplify a complex fraction, rewrite it as a
division expression.


